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# -*- coding: UTF-8 -*-

from PIL import Image

def plus(str):

#Python Zfill() 7775 Bl 6 2 KE R FAF R, JRPRFEAXSE, BIEIEFE0.
return str.fill(8)

def get_key(strr):
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tmp = strr

f = file(tmp,"rb")

s = f.read()

for i in range(len(s)):
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str = str+plus(bin(ord(s]i])).replace('0b',"))

#print str

f.closed

return str

def mod(x,y):

return x%y;

#HStri N BRI Frigde, str2ARaS 3Cft, strasuhn B A RAF B84
def func(str1,str2,str3):

im = Image.open(str1)
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width = im.size[0]

print "width:"+str(width)+"\n"
height = im.size[1]

print "height:"+str(height)+"\n"
count=0
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key = get_key(str2)

keylen = len(key)

for h in range(0,height):

for w in range(0,width):

pixel = im.getpixel((w,h))
a=pixel[0]

b=pixel[1]

c=pixel[2]

if count == keylen:

break
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a= a-mod(a,2)+int(key[count])
count+=1

if count == keylen:
im.putpixel((w,h),(a,b,c))

break

b =b-mod(b,2)+int(key[count])
count+=1

if count == keylen:
im.putpixel((w,h),(a,b,c))

break

c= c-mod(c,2)+int(key[count])



count+=1

if count == keylen:
im.putpixel((w,h),(a,b,c))
break

if count % 3 == 0:
im.putpixel((w,h),(a,b,c))
im.save(str3)
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old ="1.png"
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new = "LSB.png"
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enc = "flag.tdt"

func(old,enc,new)
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